log (L*) LABJIND-Helligkeit
log(L*) L*

L*LaBinD = (Ad/AQ) In (Ag+ Ax-Y)
Ag=150 A=0,0170 A=0,0058
* =508 Y,=18, dY,=0.08 d¥,/Y,=0.004
log(L* ;)=2.7, m;=0.43

Anwendungs—
bereich

Y,=18

log AY LABIND-Normfarbwertdifferenz
log(AY) AY

L*LaganD = (Ad/A2) In (A1 + Az°Y)
Ag=1,50 A=0,0170 A=0,0058

Normfarbwertdifferenz
log(dY)=log [ (A +Az-Y) / Ag]

Anwendungs—
bereich

log (AY/Y) LABJIND-Normfarb-

log(C;) C,=(AYlY) wertempfindlichkeit
L*LaBaND= (Ad/A2) In (Aq +Ay-Y)
Ap=1,50 A=0,0170 A=0,0058
LABJIND-Hellbezugswertempfindlichkeit
log(@Y/Y) =log [ (AL +AxY) /1 (Ag-Y) ]

Anwendungs—

bereich
1

~
1 Iog(leY) —2.34 m;=-0. Ia* a0

log (Y/AY) LABJIND-Normfarb—
log(S) S=(Y/AY) wertkontrast
L*LaBaND = (Ad/A2) In (A1 + Ay-Y)
Ag=1,50 A=0,0170 A=0,0058
LABJND-Hellbezugswertkontrast
log(Y/dY)=log [ (A+A2-Y) I (Ag-Y) ]
Y,=18, dY,=0.08 Y,/dY =222
log(Y/dY)=2.34 m,=0.13
-

log (L*/L* ;) Relative LABJND-Helligkeit
LA
L*LasanD= (Ag/A9) In (Ag + Az°Y)
L*L* =In (Ap+ Az Y) = In (A1 +Ay0Y)
Ag=1,50 A=0,0170 A=0,0058

L*,=508 Y,=18, dY,=0.0§ dY,/Y,=0.004
log[(L*) /(L* ,)]=0, m,=0.43
Anwendungs—

bereich

Y,=18

log(AY/AY,) Relative LABIND-Normfarb—
INT/N wertdifferenz
L*LaBaND= (Ad/A2) In (Aq +Ay-Y)
Ap=1,50 A=0,0170 A=0,0058
relative Normfarbwertdifferenz
log(dY/dY,) = log (A + Ay"Y)
—log (A + Az Yy)
Y,=18, dY,=0.08 dY,/Y,=0.004
log[(dYy(dY,)]=0, m,=0.86

Anwendungs—
bereich

Relative LABJND-Norm-—

log [(AY/Y) I AY /Y]
C/Cy=(AYIY)I(AYIY,) farbwertempfindlichkeit

(AdA2) In (A +Ay°Y)

A=0,0170 A=0,0058

relative LABIND-Hellbezugswertempfindlichkeit

L =
LABJIND
Ag=1,50

log[(dY/)/I(dYy/Yy)] =log [ (A +Ax-Y) /Y]
—log [(AL+ Az YY) 1Yy ]

Anwendungs—
bereich

Iag[(dY/Y)((dYu/Yu)] 0, m,=-0.13
Y,=18, dY,=0.08 dY,/Y,=0.004
Yy=4

log [(Y/AY) I (Y /AY,)] Relativer LABJND-Norm-
log(S) S/Su=(Y/IAY)/(Y/AY,) farbwertkontrast
L* L aBaND = (Ad/A2) In (A +Ay-Y)
A=150 A=0,0170 A=0,0058
relativer LABIJND-Hellbezugswertkontrast
1og[(Y/dV)/(Y /dYy)]= log [ Y / (At Ay-Y) |
—log [Yu/ (A + Ay YY) 1
Y,=18, dY,=0.08 Y,/dY =222
log[(Y/dYY(Y,/dY,)]=0, m,=0. 13

1
1 bereich
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